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(51 1. A lengitudinal study of income involves interviewing a group of 200
individuals every six months over a five year period, At the beginning af the
study, one person in the group happened bo eurn exacty fiuir timeg the average
income for the group. After six months, the income of this person had increased
by 10%, but cveryone else’s income remained the same. This one change
increased the average income in the group {over its value at the begsinning
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5 Three dice, (me red, coe white, and ona blue, ars rolled out on & table.

6
{Els,"l I"ind the chance the mt.u.l numb-er ::-f f oty mlled o the red and
| white dice is 87— ;7 —-
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(3] 3. L'ted and Henry both toss a coin three times 2 week. Fred does this for 50 weeky; Llenry
for 100 wesks,

It might turn out thatk: L

(i1 I'ted gets three beads in more than & of the 30 weeks.
é {ii} Henry gets three heads in more than 12 of the 100 weeks.

Check [ V) onc of the three options below, and then explain your choice,
_ . fi) 1y more likely than {ii),
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{i) and (ii} are equally likely.
(1] iz less lkely than {ii).
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0y 4. A gambler plaving roulette can make a four wumbers het—for example, bet $1
on the numbers 1, 2, 4, and &/

Four numbers--___ ]_ 2 1|r - e--Four numéberz

'H..-I"\--.

covord b,2,4.0 oovers 23,06

The: bel pays & o 1t if one of the four numbers comes up, the gambler gets the §3
Back, along with with an additional $; otherwise the gambler loses e $1 gtake.

A roulette wheel at Nevada has 38 slots, in each of which the ball is ¢qually
likely to fall. The slots are ftumbered 0, 03, 1, 2, . . . 33, 36,

A couple plays at the same roulette whewl, On every spin, both husband and wife
make a four numbers bet. The husband alwavs bets §1 on 1, 2, 4, 3; and the wite $1
on 2, 3,5, 6, They do this for bwenty sping,
£af
[a} 'The net gain to the husband tromn the 20 e will be like Z/L
the sum of c:}\ O draws Trorm the box;
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Draw a box m the space above. ]chh-._atn: haw many tickets are In the box, and
what is written on each ticket,
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(b) The net gain to the couple from the 20 bty will be like [ T
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L3raw a box in the space above. Indicate how many tickets are in the box, and
what is written on each ticket,
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(10} 5. Fifty draws will be made at random, with replacement, from the bow:
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(8) & A large company hires an outside survey nrganizabon to inferview a sample of
its customers. The company wants the survey organization to use a probabiiity
methoed to obtain the sample. This requires the survey organization to sabisfy two
conditions when choosing the customers for the vample. State the two conditians.
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(10 7. A cable company takes a simple random sampte of 350 households from a city
with 37,000 households, Part of the data collected by the company s a list of
’ S the 350 househalds in the sample and {he number of TV sets in each househald.
‘1‘1 The tatal of this list is #37; that is, there is a total of 637 TV sets in the 350 sample
househnlds. The SD of the List iy 0.75.

{a} Estimate the average number of TV sets per househald in the city.
= efVsis o sobbr el $IETRETY, okl
by Allach an 5E to e estimate in (3},
SE(suw) =" # samptd + SD{kst)
=350 - 075
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[y Tn the statement below, fill in the two blanks with maumbers,

The range from _l.__'fﬂ_ tu I 'a___.. is an approximale

d5%-confidence interval for the average number of TV sets per household in
the city,
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